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Attempt all questions.
Figures to the right indicate full marks.

er in one or two sentences —

identify the valid moods in the first figure of categorical syi%m sm from the
following pairs of premises :—

AA, AE, Al, AO, EA, El 1A, OA.

What does the lefter ‘m’ and 'K’ stand for in the moods Qz‘ categorical syliogism ?
State the rule of Material Equivalence.

Symbolize the following argument :

if I am to carry out my plan, | must keep my pupils and If | am to carry out
my plan | must write my book. mther | can not keap my pupiis or | can not
write my book.

. 1 can not carry out my plan.

Define the Fallacy of Equivocation.

What is Direct and Indirect verification ?

Define the scientific Notion of Causation.

What do you mean by Vis major or Actus Dei Nemini Facit Injuriam ?
Give the symbolic form of pure Hypothetical Syllogism.

What is crucial experiment ?

Write short notes on any four :—

(@)

{b)
()
(d)

(e)
®

Prove that ‘OA’ can be a valid combination only in the 3rd figure.
Explain Simple Constructive Dilemma and Simple Destructive Dilemma.
Hustrate.
Hypothesis :—
(iy Explanatory Hypothesis
{(ii) Analogical Hypothesis.
Any two Iimpediments to good reasoning.
J.S. Mill's view of Cause.
Dr. Thomas Gennarelli's Case.

Answer the following (any two) :(—

(@)

Test the validity of the following argument. ldentify the figure . —
(i) Some men are sinners.

All Saints are men
. All Saints are sinners.

(i) All prosperous nations are self governed.
india is not self governed
. India is not a prosperous country.

(ili) Al books are liable to error
All books are human production
. All human production are liable to error.
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(b) Reduce indirectly the following categorical syllogism
Some men are not wise.
All men are rational
-. Some rational beings are not wise.
(c) ldentify the fallacy and give reasons.
(i) “Gentlemen of the Jury, | earnestly make an appeal to you to
sympathise with my client .—
“Pretty young widow tear-stained face, mournining widow attire,
holding newly born baby in her arms eic”.
(i) The witness himself is drunkard and his character is suspicious.
How can his words be trusted Sir ?
(iii) Freedom of speech is a fundamental right.
Hence | can criticise the government policy even during emergency.

4. Answer question No. (a) and any three of the following :— , 48
(a) Construct complex constructive dilemma. Rebut and Refute it.
if a man is in politics, he is corrupt; and if he takes no interest in politics, he
is an undesirable citizen.
(b) Define syllogism, state and explain —
(iy Rules of Distribution
(i) Rules of Quality.
(c) Define hypothesis, explain the conditions of a good hypothesis.
) Explain the following fallacies :—
(il Many Questions
(ii) - Petitio Principii
(iii) Fallacy of Division and Composition.
(e) Analyse the principle of equality as a ground for condemning the goals of
racially discriminatory admission procedure.
(fy Bring out the features of cause with the heip of examples.
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(2) Figures to the right indicate full marks.

I Answer in one or two sentences -
(1) How is the figure of categorical syllogism determined ?
(2) State any two general rules of catagorical syllogism.
(3) Give the symbolic expression of the following example. 'He is clever. He is rich.
Therefore, he is clever as well as rich'.
(4) Identify and state the rules of replacement —

(i) itisfalse that atribe is nomadic and it builds permanent shelters is
equivalent to either a tribe is not nomadic or it does not build permanent
shelters. ; | |

(&) (i) Ifthe petrol rate increases, the cost of goods will rise is equivalent to if
‘ cost of goods do not increase, then the pertrol rate will not increase.
(;Q (5) State the moods of categorical syllogism with EIO as its constituent propositions.
( 9>(6) Whatis the difference between direct and indirect verification ?
( &/ (7) State the difference between fallacy of composition and division.
(&) (8) Whatis plurality of causes ?
F\Lt) (9 Give an example of fallacy of converse accident.

I. Write short notes (any four) -
(1) Any three conditions of a good hypothesis.
(2) Working hypothesis and Ad-hoc hypothesis
(3) Disagreement in belief and attitude.
(4) Negative conclusion in Figure |l of categorical syllogism.
OR
Prove thatAAin Figure Il is invalid.
(5) Respondent superior.

. (A) Answer the following (any two) —

(i) No candles are white and all candles are bright. Therefore, ail bright things
are white.
Identify the figure of the above categorical syllogism and state the special
rules of the figure.

(i) Testthe validity of the given categorical syllogism. Every Student wishes
to get good marks and everyone who wants to good markes must study
well. Hence, everyone who studies well is a student.
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(B) Identify the fallacies. Give reasons —
(i) Everybook in this library is good. Therefore the library is good.
(ii) This problem is wrong. Itis wrong becuase there is a mistake init. There
is a mistake in it because it is incorrect and it is incorrect beacuse it is wrong.
(iii) Have you not learned your lesson by this time ?
(C) Reduce directly —
(i) CAMENES
(i) FERISON.
OR
Reduce indirectly the following -
All gentiemen are polite
No gamblers are polite !
No gambiers are gentleman.

IV. Answer Q. No. 6 and any three from Q. No. 110 Q. No. 5. 48
(1) Prove the special rules of Figure | and Figure Il of categorical syllogism.
(2) Explain the following -
(i) Cause as a set of conditions
(i) Agency view of cause.
(3) "Language is so subtle and complicated an instrument that we may lose sight of
multiplicity of its uses”. — Elucidate.
(4) Explain the following with reference to Inactical Ethics by Peter Singer.
(i) equality and genetic diversity
(i) racial difficulties and racial equality.

@}yf (1’) Define a mediate deductive argument. Explain the valid forms of hypothetical mixed
argument and kinds of disjunctive arguments with example. S
OR '
(2) What are the impediments to good reasoning according to Richard Feldman ? Answer
with illustrations.

@‘/g% (1) Give the concrete and symbolic expression of the following Dilemma -
(@) Simple Constructive Dilemma
(b) Complex Destructive Dilemma
(c) Simple Destructive Dilemma.
OR .
(2) Construct a complex constructive Dilemma, rebut and refute it.
If there goodness in the heart, there will be peace, if there is hatred in the heart,
there will be lack of happiness.
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Attempt all questions.
Figures to the right indicate full marks.

Answer in one or two sentences.

Write two differences between Mediate and Immediate inference.

Name the moods of all the figures of categorical syllogism with ‘E’
proposition as the conclusion.

State the rule of addition.

Write the symbolic expression of rule of Distribution.
Symbolise and state the rule of Inference. Today is Sunday and it is a holiday.
Therefore today is Sunday. “

Write the rules of disjunctive arguments.

What is plurality of causes ?

Give an example of fallacy of composition.

What is crucial experiment ?

Give an example of post hoc-ergo-propter hoc.

Write short notes on (any four) :—

Kinds of agreement and disagreement.

Ad-hoc hypothesis and working hypothesis.
Emotive words and Emotively Neutral language.
Fallacy of amphiboly and Fallacy of division.
Respondeat superior.

Dr. Thomas Gannarelly.

Answer the following (any two) :—

Test the validity of the following categorical syllogism, identify the figure
and give reason :—

(i) No politician is a good leader.

Some politicians are corrupt.
- Some corrupt persons are good leaders.

(ii) No advocates are liars.

(iii)

All advocates are polite.

. No polite persons are liars.
All Hindus are Indians

All Indians are Asians

.. Some Asians are Hindus.
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(b) Reduce the following moods directly :—
(i) Disamis (i) Bramantip.

(¢) Identify the fallacy, give reasons. :—
(i) Quinine cures fever and restore health.
. Quinine should be taken daily.
(ii) His witness should not be relied upon because he is a gambler.
(iii) Each chapter of the book consisting of ten chapters can be written in a day.
. The book can be written in a day. 48

4. Answer sub-question no.(f) and any three of the following i.e. (a) to (e).
(a) Explain the fallacies of categorical syllogism with examples.
(b) What is hypothesis ? Explain the conditions for good hypothesis.
(c) Explain the fallacies of Ignoratio Elenchi. \
(d) Elaborate on the activity view of cause/agency view of cause.
(e) Explain the following :
(i) Expressive use of language.
(i) Lack of vocabulary as impediment to good reasoning. —
(ii1) Modus Ponens and Modus Tollens
(f) Construct Complex Constructive Dilemma, Rebut and Refute it. If the general
had been loyal he would have obeyed his orders, and if he had been intelligent
he would have understood them.

)
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N.B.: (1) Attempt all questions.
(2) Figures to the right indicates full marks.
I.  Answer in one or two sentences:— 20

(a) How is the figure of categorical syllogism determined? Give an example of
figure I.

(b) Give the symbolic form of rule of De-Morgan’s Law.

(c¢) Symbolise the following and name the rule of inference.
“Either you take the medicine prescribed by the doctor or regularly practice yoga.

© - * You are not: ta}\mo the rfledicine prescribed by the doctor. Therefore you regularly

practice yoga.”

(d) “You are assertive. You are mtelhgent Therefore you are assertive and intelligent.
Symbolise and name the rule of inference”.

el (e) Define the fallacy of amphiboly and accent.

(f) What is crucial experiment?

(g) State the kinds of diségreement with example.

(h) What is the difference between Modus Ponens and Modus Tollens?

(i) What does the letter ‘K’ and ‘S’ indicate in the process of direct reduction?

() Name the valid moods of figure II.

2. Write short notes on any four:— 20
(a) Prove the special rules of figure I of categorical syllogism.
(b) Verification of hypothesis.
(c) Vis Major.
(d) Directive use of language with examples.
(e) Bob Brown’s Case.
(f) J.S.Mill’s View of Cause.  *

3. Answer any two:—
(a) Test the validity of the following categorical sylloglsm 1dent1fy the figure and i2
give reasons.

(1) Some smokers are individuals who risks heart disease and some young
persons are those who risk heart disease. Therefore some young
persons are smokers.

(ii) Some philosophers are mathematicians.
Plato was a philosoper.
. Plato was a mathematician.
(iii) All educated men are intelligent.
Mohit is not an educated man.
. He is not intelligent.
[ TURN OVER
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(b) Reduce any two moods of figure III of categorical syllogism directly.
(c) Identify the fallacy give reason:—
(i) Each atom in this piece of chalk is invisible. Therefore the chalk is
invisible.
(ii) Crimes of theft and robbery are increasing at an alarming rate the
conclusion is obvious: We must reinstate of death penalty immediately.
(iii) Murder is morally wrong. This being the case, it follows that abortion
is morally wrong.

4. Answer sub-question no (f) and any three of the following 1.e. (a) to (e):—
(a) What is the structure of a categorical syllogism? Explain with exainples.
(b) What are the features of a good hypothesis? Give illustrations. =
(c) Elaborate on the following with reference to the notion of causc :—
| 6 Cause as a set of conditions g
(ii) Cause as a power
(iii) Relation between cause and effect.
(d) Elaborate on the following fallacies with examples :—
(i) Argumentum-ad-hominem
(ii)- Petitio Principii
(iii) Fallacy of converse accident.
(e) Explain with reference to Peter Singer’s Practical Ethics :—
(i) Equality and Genetic Diversity
(ii) Democracy and Violence.
(f) Construct a complex constructive dilemma, Rebut and Refute it.
If humans are addicted to use of cell phones then they losg their {freedom and
if humans free themselves of addiction then there will be balance in life.

48
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Please check whether you have got the right que‘stlon paper ;
N.B: 1. All questions are compulsory.

2. Figure to the right indicate full marks.

Q1 Answer the following in one or two sentence. Ry
a) State the special rules of figure | of categorical Syllongm/ "
b) What is the position of the middle term in figure lV@f
¢) Give the Symbolic expression of De Morgan’s law,
d) Give the Symbolic form of Modus Tollendo Ponens
e) Symbolise and State the rule of Inference / Rgp]écgmén

If Something is wrong then it must be rectlﬁad‘tSQQUtvatA
must be rectified 3

f) Define Plurality of causes

g) State any four kinds of Hypothesis <«

h) Identify the fallacy and give reasous A
Why is it so difficult to reach a dge‘ts;bn inthiscrimingl ¢

i) Give an example of fallacy of Qquwscayqn' CRLSE

j) State Aristotle’s Dictum and;tt,s;meéﬁ' &

Q.2  Write short notes on (a<ny
a) Distinguish between djf

b) Distinguish betweg b T”

¢) Emotive words.

d) Uses of langua e,

e) Prove the follmeg?g
and Ill in frgEfreJ[“ QS

f) Respondgate Sf grfé

Y

e\r\‘él rules of categorical syllogism AAA
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Q.4 Answer question no 4(f) and any three from question no 4(a) (b) (c) (d

a) What is the function of mlddle term ina categoncal syllogism? Explal_ W

this method useful in law?
¢) Explain the notion of cause with reference to:

i. Positive and negative condition.

il, Vis Major.
d) Bringout the significance of any four non-formal falla
e) Discuss Peter Singer’s view’s on “Ends and Means'’

Ethics”. o

f) Construct complex constructive dilemma. Reb~ "‘and Refutes

P T

oLony, an

mother country.
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Please check whether you have got the right qu 3
N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.

Q.1 Answer the following questions in one or two sentences
a) State the special rules of Figure III of categorical syllogls

) What is the position of middle term in figure II?
¢) Give the Symbolic expression Associative Laws.
) Give the Symbolic form of complex destructive .
_¢) Symbolise and state the rule of Inference / Repla m
More people have become cyber addicts as well*
Therefore, Human relations have deteriorate

f) Define Plurality of cause.

g) State any four kinds of Hypothesis.
h) Identify the fallacy and give reason ¢
Each item in this tea-cup is invisi

Q.2 20
Q3 12
- se:nconvenience.
48

v'wb) Explam the stages ¢
: oW 1S thlS metho ( seful in law?

. vc) Elaborate on the A gency view of cause and post hoc -ergo propter hoc.

~d) Brmg out the SIgmﬁcance of any four non-formal fallacies in law, Give examples.

) - DISCUQS Peter Singer’s views on ‘Ends and Means’ with reference to his book “Practical Ethics”
Cor 1struet a complex constructive Dilemma, rebut and refute it.

~H oraduates have a real craving for kﬂowledge post graduate courses are unnecessary and if
fgradudtes lack interest post graduate classes are useless,”

po%hetico Deductive method with reference to Rumford’s theory of Heat.
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N.B. : (1) Attempt all questions.

L.

2.

@

Figures to the right indicate full marks.

Answer in one or two sentences :

(@)

(b)
©
@

(e)

®
(@
(h)
@

)

Name four valid moods of all figures of categorical Syllog1sm W1th
'I' proposition as its conclusion. Lot
Define Direct Reduction. g

Give an example of the fallacy of affirming the consecven’c

Write the symbolic expression of Distributive Laws;.

Symbolise and state the Rule of Inference. If JuVemle killers are
responsible for their crimes as adults, then exe»utlon is justifiable
punishment. Juvenile killers are not responewle for their crimes as
adults. Therefore, execution is not justifiable punishment.

What do the letters' K' and 'KS' stand for in the process of direct
reduction?

What is fallacy of Accent?

State Mill's view of cause. 5

What is the meaning of const;ﬁ,_létive and destructive Hypothetical
argument. =

State any two 1mped1mem° to good reasoning.

{.}» 3

Write short notes on (any foar)

@

(b)
(c)
(d)
©)
®

Prove the Vahchty ot “the following in Figure 11l of categorical syllogism.
EAE and IEO. @

Kinds of Dﬁemma

Thomas G 1eralh

Reduce, dxrectly Bramantip and Camenes.

Explana tory hypothesis and descriptive hypothesis.

Any:-t -two features of scientific views of cause.
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3. Answer any two : A2
(@ Reduce the following to its strict logical form. Identify the ﬁgure and 2%
test the validity. Give reasons. -
(1) People who mix fact with fantasy are never good witnesses ﬁi'nd
some hypnotised people are people who mix facts and f ntasy
Hence, some hypnotised people are not good w1tnesses
(i) A few paintings are masterpieces and some pamtmgs 'he colorful.
Therefore, some colorful things are masterpleces

(b) Reduce indirectly : CESARE. /

(c) Identify the fallacy in the following Give reasors,
() This jigsaw puzzle when assembled is circuiar. Therefore, each piece
is circular in shape. % '

(i) The Professor said that he will give a lecture about heart failure in
the lecture hall. It must be the cage’ ‘that a number of heart failure
have occurred there recently.

(i) Why is it so difficult for you to reach a decision? I heard you in
the court. Tell me, did yoli';‘lié on the witness stand?

4. Answer the questions no 4 (f) and any three from Q No.4 (a) (b) (c) (d) and (¢): 48
(a) Define categorical sylloglsm State the rules of distribution and the fallacies
and explain with exampies.
(b) Explain the stages of Hypothetico deductive method with reference to
Rumford's 1nvest1g,at10n into the nature of heat.
(¢) Explain the following fallacies.
» Fallaﬁ,y of accident and converse fallacy of accident.
(i) Failacy of hysteron protaron.
(ii)) Fallacy of arguments ad-ignoratium.
(d) Elabnrate the concept of Agency view cause with reference to Vis Major.
(e) Examune the following with reference to' Practical Ethics' by Peter Singer.
(1) Equal opportunity to equal consideration. :
(11) Bob Brown's case.
e 1 1) Construct complex constructive dilemma, rebut and refute it.
© If workers sue their employers then damages will be awarded and if
workers will protest, then employers will declare bankruptcy.

TURN OVER




| 7((%/73 ,, z@/g\‘_
N BLES LOJ/‘C~ﬁ A 0

)’[__S SFM/L\L«

. _QP Code : 13130

(3 Hours) [ Total Marks : 100

;;- ; b~
N.B.: (1) Attempﬁ\all questions.
(2) Figures to_the right indicate full marks.

1. Answer the following in one or two sentences. ' - 20

(a) Name the three terms of categoriéal syllogism. What is the pocition
each of these terms in a categorical syllogism.

(b)  State Aristotle's Dictum and its meaning.

(c)  State the symbolic expression of Commutative Laws.

(d) If you break the traffic rules, then you will have to )pay fine is
equivalent to either you do not break the traffic rules or you will
have to pay fine. Symbolise the given example and name the Rule of
Replacement.

¢ (e)  State the different kinds of disagreement with example.
' ® Symbolise the given example and state the Rule of Inference.
' He is clever. He is rich. Therefore, e is clever and rich.

(g) Whatisthe difference between proofand verification of a hypothesis?.

(hj Give an example of complex destructive dilemma.

(i)  State any three impediments <0 good reasoning. ,

(j)  Whatis the difference between necessary and sufficient condition of

_ a cause 7 ‘

5. What short notes on any four : 20
(a) Directive and expressive use of language.
(b)  Plurality of causes
(c) Fallacy of sccident and fallacy of converse accident
(d) Fallacies of mixed hypothetical argument. '
(e) Oskar Schindler ' :
() Prave - only negative conclusion can be drawn in Figure II of a
categorical syllogism. ‘

FN-Con. : 7650-15. | TURN OVER
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3. Answer the following (any two) : n
' (a) - Test the validity of the following. Give reasons. Identify the Fi igure.
(1) Diamond rings are expensive and some gold rings are
expensive. Therefore, some gold rings are diamond rings.
(i1) All criminals are punished. All those who commit crime,
are punished. Therefore, all those who commit crime are
criminals. ,
(iii) Some animals are pets and some pets are caged. Therefore,

some caged beings are animals. - J
(b)  Reduce indirectly the following : ‘
Every good diplomat is cautions and a cautions person is never =
impulsive. Therefore, an impulsive person is never a good diplomat.
(c) ~ Identify the fallacy and give reasons.

(i) The world is made of matter and matter is eternal; therefore
the world is eternal and canuot have been created.
(ii) The house was built as & present for Mrs. X, who married

in 1967, at a cost of rs.50,000/-.
(iii) Pity is divine. His ccndition is p1t1ab1e Therefore, his -
: condition is divine.

4. Answer question no.4(f) and any tiiree from Q.No.4 (a), (b), (c), (d) and (e).
(a) Elaborate on the following : 48
(1) Figure sf categorical syllogism
(i1) Rule of quality and fallacy of undistributed middle.
(b) State and expiain any three differences between Activity view of
cause and scientific view of cause with examples.
(¢)  Bring out tae stages of hypothetico-deductive method with reference
to Ken-Tiki expedition.
(d) Discuss Peter Singer's views on equality and its 1mphcat10n with
reference to his book, 'Practical Ethics'. '
(e)  Explain the following :
(i)  Vis major. ' ,
(i1) Respondeat Superior
(iii) Any two conditions of a good hypothesis.
¢ Construct a Complex Constructive D]ilemna, rebut and refute it.
If money is invested in e-gold, then you need to open a demat account
and if you buy physical gold then you keep it in the locker.

FN-Con. : 7650-15.
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N.B. (1) Attempt all questions.
(2) Figures to the right indicate full marks.

1. Answer the following questions in one or two sentences. 20

(a) Give an example of categorical syllogism. :

(b) State the rule of Exportation. .

(c) Symbolise the following and name the rule of Inference. --
‘People are wealthy and people are educated. Therefore, people are wealthy’.

(d) Symbolise the following and identify the rule of Replacemeint. :
‘Itis false that he is honest or smart’ is equivalent to “He is not honest and he
is not smart’.

(e) When does the fallacy of illicit major occur ? Give an example.

(f) Define verification and state the kinds of verification.

(&) Give an example of Agrumentam-ad-Baculum,

(h) Identify the given fallacy and give reason. N :
‘Tam down with fever because I had ice-cream in the afterndon and tea in the
morning °.

“(i) State the rules of mixed hypothetical arguments.
() List the steps of direct reduction of the mood CAMESTRES.
: 20
2. Write short notes on any four :
(@) Prove only negatjve conclusion can be drawn in second figure of categorical
syllogism.
(b) Agreement and disagreement of belief and attitude.
3(c) In-jure non remote cause red proxima spectatur.

(d) Relation between cause and effect.

(e) Any three impediments to good reasoning.

(f) Usesoflanguage.

12
3. Attemptany two:—

(a) Testthe validity ofthe following categorical syllogism. Identify the figure. Give
reasons :

(1) All courageous persons are confident and all experienced persons are
confident. Hence, all experienced Persons are courageous persons.

(i1) Allprosperous nations ar self-governed. This nation is not self-governed.
Therefore, this country is not a prosperous country.

[ TURN OVER
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(iii) All savings should be deposited in the banks. He saved him from drowning.
Therefore, he should be deposited in the banks.
(b) Reduce the follwoing moods directly :
(i) No superstition is science and economics is a science. Therefore,
Ecomomics is not superstition.
(ii) Some peers are judges and all judges are men of character. Therefore, some
men of character are peers.
‘(¢) Identify the fallacy. Give reasons :
(i) Man is an inventor. No women is a man. So, no woman is an inventor.
(ii) The film is about a real person shot in summer with full cooperation from
the city and police department. "
(iii) Itisalrightto pick up that toothpaste because evcryone is doing so.

4. Answer sub question no. (f) and any three of the following (a) to (e).

(a) Enumerate briefly the essential characteristics of a syllogistic inference.

(b) What is hypothesis ? Show how: it is useful in ordinary and legal / scientific
explanations.

(c) Causeis anunconditional immediate invariable antecedent. Explain with reference
to scientific notion of cause.

(d) Enumerate the kinds of non-formal fallacies. Explain any five with examples.

(e) Change in society can be intiated through civil-disobedience movement and legal
reforms. Discuss with reference to Peter Singer's views on ‘Ends and means’.

(f) Construct a complex constructive dilemma, rebut and refute it.

o Ifyou obey your father, your brother will be displeased and if you listen to your

brother, your father will be annoyed.

Con. 9083:14.
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N.B: 1. Attempt all questions.
2. Figures to the right indicate full marks.

1. Answer in one or two sentences :
(@) Define mediate inference, Give an example*
(b) Give an example of ambigious minor term 20
(c) Give the symbolic expression of pure hyjj thetical s
(d) Symbohse and state the Rule of Infer )

(e) Symbolise and state the Rules of Repla B
C ' and he has to be punished' i is _e' ivalet

() Give an example of Com;\)l‘
(g) Reduce dzrﬁctly DATISI:
()
@)
@

20
= - 12

X ategorical sylloglsm Iden’ufy the ﬁgure

o

“Tiwari is a member of the Legislative Assembly
“ Mr. Tiwari must have voted in favour of it.
> The machine is made of material substance

- Every part of machine is made of matter. [TURN OVER

35B07B2DC6A79DCAOSCOTEF665D73346
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[Time: Three Hours]

Please check whether you have got the right.question aper\ 3§
N.B: 1. Attempt all questions. ;
2. Figures to the right indicate full mark

Q.1 Answer in one or two sentence: »
a) State the rules of structure of categorical syllogism."
b) What is the fallacy of undistributed middle in cal
¢) State the symbolic expression of Rule of DlsjuJ}\ > §
d) State the symbolic expression of Rule of T&anspo\smoﬁ..

€) Symbolise and identify the Rule of Inferegice “QERuLe\VQf
unusual pumshment It is a cruel form Q fpiinis] .j %

Give an example of fallacy of cgm‘f)Qsi’i
j) What are the immediate infergr cé“ St

20
12
\}fq «ﬂo not declare him guilty he may kill one of you the next time.
‘try are completely opposed to this proposal. Hence our ladies
against it. Is she not a woman?
ns in detail. (any four) 48

and any three from the remaining

1*mood”. How are valid moaods determined?
n'e of causes as used in Law

Page 1 0of 4
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\ \ Paper / Subject Code: 57203 / Logic - IL

B8 sem -~

- Q.3 a) Answer the following any two :

a) Test the validity of the following éategorical syllogism. Identi

reasons.

i) Some diamonds are precious stones. some carb
i)
iii)  All criminal actions must be punighed an hieating,

o

Therefore, cheating must be P d,
b) Reduce indirectly BOCARDO.

¢) Identify the following .Give reasofis
Light travels faster than

48

ies related to language.

ctive Dilemma, Rebut and refute it.

vill gain information and if you watch cricket, you will

s s o ok ok ofe sk ok o e sk sk sk sk e ek sk skesledk ok

Page2of 4
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Paper / Subject Code: 57203 / Logic - II.

[Time: 3 Hours]

Please check whether you have got the right questi
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.

u Q.1  Answer the following in one two sentences.
a) What is the function of middle term in categotic
b) Give an example of equivocation in the forino
c) FSymbolise and and state the rule of infe;

Living in harmony with nature add;

Q2 20

Page1of4
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iii) U9 YT IS i iR \
GEU[Eh SO BT ST TR
FEIVF GV IR
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Paper / Subject Code 57212 / Loglc II - &) 3
O N , 3 &S P S thogw&>
’\ (2 Hours) ’ P [Total marks: ‘60]
Please check whether you have got the rlght questlon paper.
N.B.: 1) ._All questions are compulsory. e ¢
: 2) Flgures to the rlght indicate.full marks
o “Q.1 Answer in one or two sentences 1Any 6[ PN S (2x6—50 ) &

.“What is the function'of middle term in a categorlcal syllo gism?:
~ What is the position of the middle term in Figure IV of a categorlcal sylloglsm?
Give the symbolic expression of Commutative Laws. 3 R
Givean example of pure; hypothetical syllogism.
Give the symbolic exptession of Modus Tollens

“What is plurahty of causes? ¢

Define non-formal: fallacy
What is verification? & , ;
Give an example of fallacy of equlvocatlon N S4 e
Reduce dlrectly FESTINO : :

B e pelo e

Q 2 erte short notes on g ny 2): &
+a. Kinds of Disjunctive argument
Sb. Respondeat Superior

c. The fallacy of compos1t1on and d1v1s1on . oY £ &
d Bob Brown & & s
Q 3 Answer any two of the followmgs (Any 2[ T (6x2 12)- >~
>a. Test the valldlty of the followmg categorlcal sylloglsm Identlfy the ﬁgure Give K
reasons &5

“'1. Allartifacts are expens1ve Some expenswe thmgs are sﬂver ornaments
Therefore, some silver ornamentsare artifacts. ;
2. <All animal$ are not rational. Some animals-are short hved Therefore SO
« short -lived beings.are not ratronal - >
37 All crimes are pumshable and some actlons are punlshable So some ac jons
" are not crimes, & «, O N S

b. Write the followmg arguments in strlct sylloglstlc form Identlfy the figure lee

reasons.

A " Herbs are used as medlcme and herbs are expenswe therefore all medlcmes
are expenswe

2. All ‘green Vegetables are useful;;" 'or health.' Splnach is green Vegetable,
Therefore Spmach is useful for health

B

o

. Identrfy the fallacy Give reasons , _' ; ' ‘ & :
1. If passengers in a car do'not put on'the seat belt then they have to pay fine. &
2. Mr. X will do well in‘examinations as he used his lucky shirt and. lucky pen
3-Did you stop cheatmg your customers‘? G i3

»g

d Reduce 1nd1rectly CESARE

11193
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poo e

Explam the stages of hypothetlc deductive method ' - il
Explain the popular notion of cause. \
State and explain the rule of corollaries of categorlcal sylloglsm
Construct complex constructive dllemmas rebut, and refute.
If the Mmlster of agrlcultule is<a farmer,-then export of agrlcultural crops W1ll get -

u_vjfconcessmn in export” duties and if Minister of Agr1cu1ture is Industrialist, then
EAgrlculture sector««wﬂl face many problems to export agrlcultural produce
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[Time: 3 Hours)

N.B: 1. All questions are compulsory.,
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b) Reduce indirectly DISAMIS.

¢) Identify the following fallacy. Give reasons:-

i} Untouchability must be removed because Gand

iii

-Answer questions no.4 (f) and any th

Q.4

Page 2 of 4
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